I./1. A) 12 lapja: 1. selejt. I./1. B) 10 lapja: I./1.C) 10 lapja:

Firos Tk Lild  Makk Piros Tek Zdld Makk Piros Tok  Zald Makk
k9 kfag7 /f987 10 10fa7 109 A fa9 A8 A 10ka Ak87
1./ 2. A) 10 lapja: I./2.B) 12 lapja: I./2.C) 10 lapja:
Piros | Tok | Iold  Makk Piros Tok Zeld | Makk CPiros | Tek Zald Makk
108 10kf87 A10 9 fa7a fa987 A107 Ak9 A9 k kfa8

I./3. A) 10 lapja: I./ 3. B) 10 lapja: I./3.C) 12 lapja:

Piros  Tok | Zsld - Makk Piros Tok Zsld  Makk Piros | Tak [ild Makk
Af10kf ka Af7 98 Aa9 8 10ka9 10ka7 87 A10f97 8

I./4. A) 12 lapja: I. /4. B) 10 lapja: I. /4. C) 10 lapja:
Piros Tok Zald  Makk Piros Tik Liild Makk Piros Tk Zdld Makk
10fa98 a97 f A108 k 10ka987 kfa Ak7 A10f8 A 97
I./5. A) 10 lapja: I./5. B) 12 lapja: I./5. C) 10 lapja:
Piros Tok  Zold | Makk Piros Tek | Zold | Makk © Piros  Tek Zld Makk
fa ka87 10k A7 A9 A10 Afa97 f98 10k87 f9 8 10ka
I./6. A) 10 lapja: I. /6. B) 10 lapja: I./6.C) 12 lapja:
Piros Tik ild  Makk Piros  Tak  Zald Makk Piros Tk Liild Makk

k 'A10k98 f A10k Aa98 faa8 a9 10f7 7 A10k97 f87

I./7.A) 12 lapja: I./7.B) 10 lapja: I./7.C) 10 lapja:
Piros | Tik Liild Makk Piros |Tok | Zold  Makk Piros| Tok | Zdld = Makk
A10 k971087 Af97 a987 10 Af9 a8 kf Afa8 ka 10k

I./8. A) 10 lapja: I./8. B) 12 lapja: 1. /8. C) 10 lapja:

Piros. Tk Zold Makk  Piros | Tok | Zsld Makk Piros Tk Zsld | Makk

97 10f87 a7 f9 'Al10kfa Aka 98 a8 8 9 AI0kf A10k7

1./9. A) 10 lapja: 1. /9. B) 10 lapja: 1. /9. C) 12 lapja:

Piros  |Tok Zald Makk Piros | Tok Zold Makk Piros|  Tak Zold | Makk

A10f9 a ka8 ka a87 kf9f 1087 k A1087 A1097 Af9
I./10. A) 12 lapja: I./10. B) 10 lapja: I./10. C) 10 lapja:
Piros| Tok | Zold | Makk C Pires | Tak Zold Makk Piros Tok Zold | Makk
10 987 k97 A10a97 Aa98 A10fa 10f kf7 k Aag8 kf8
I./11. A) 10 lapja: I./11. B) 12 lapja: I./11. C) 10 lapja:
CPiros Tok| ol Makk | [ | Piros Tk Iold Makk Piros | Tk | Zold | Makk

Af9 |A10987 k7 || 10k8 Al0kfa7 | Al0a a7 98 kfa f98

I./12. A) 10 lapja: I./12. B) 10 lapja: I./12. C) 12 lapja:

Piros| Tok | Zold | Makk Piros | Tok | Zald Makk Piros | Tok | Zold  Makk
'8 87 k8 ka987 kfa7 10ka Af A A109 Af9 10a97 10f




1. /1. A) 12 lapja: 1. selejt.

Piros Tak | Zald Makk
10kfa98 Ak a98 10
1. /2. A) 10 lapja:
Piros Tok | Iold | Makk
k kakfs7 Aasg
I1. /3. A) 10 lapja:
Piros| Tk lild | Makk
ka Afa7 109 A 10
1. /4. A) 12 lapja:
Piros Tk Inld | Makk
ka A10k7 Akf 10ka
I1./5. A) 10 lapja:
Piros | Tok | Zold | Makk
Ak k9 A10f9 108
Il. /6. A) 10 lapja:
Piros | Tk  Zdld| Makk
Ak Aa98 A kas

1. /7. A) 12 lapja:

I1. /1. B) 10 lapja:
Piros | Tok (Zaold  Makk
A7 fa8 k A987
I1. /2. B) 12 lapja:
C Piros  Tek Zold Makk
fa98 f9 a9 10k97

I1. /3. B) 10 lapja:

Piros Tdk| Zald | Makk
Af8 k Af7 ka7

I1. /4. B) 10 lapja:

Piros| Tok | Zdld  Makk
98 fa9 a87 87

I1. /5. B) 12 lapja:

CPires | Tok Ild| Makk

1087 A10a87 7 fa7

Piros Tok  Zdld Makk

1078 Aa97 10k987

I1. /8. A) 10 lapja:
CPiros | Tok  Zald Makk
Ak7 Af987 87
1. /9. A) 10 lapja:
Piros| Tok | Zald  Makk
a A107 Ak87 fa
I1./10. A) 12 lapja:
Piros Tok | Zold | Makk
ka A87 Aa97 a98
I1./11. A) 10 lapja:
Piros Tek | Zsld Makk
10f87 k9787 A

1. /12. A) 10 lapja:

Il. /6. B) 10 lapja:

Piros Tk Zdld Makk
10f987 kf7 f9

I1./7.B) 10 lapja:
Piros'  Tdk | Zald Makk
f8 kfa7 10f Aa

I1. /8. B) 12 lapja:
Piros.  Tok  Zold | Makk
98/ 10ka8 10f Akf9

I1. /9. B) 10 lapja:

Piros | Tok | Zald Makk
10f97 ka 10f 87

[1. /10. B) 10 lapja:
Piros | Tok  Zold | Makk
1108 10f9 k8 Akf

I1./11. B) 12 lapja:

I1. /1. C) 10 lapja:
Piros  Tik Liild Makk
1097 A10f7 kfa

I1. /2. C) 10 lapja:

C Pros | Tak | Zald Makk
A107 A1087 A 10 f

Il. /3. C) 12 lapja:
Piros Tk Lild | Makk
1097 1098 ka8 f98
I1. /4. C) 10 lapja:
Piros  Tik Zild | Makk
A10f7 8 109 Af9

I1. /5. C) 10 lapja:
Piros Tk Zold | Makk
fa9 f ka8 Ak9

I1. /6. C) 12 lapja:

Piros | Tik Liild Makk

a 10 10ka87 A10f97

Piros = Tk Liild Makk

a9 10a8 Afa kf98

I1./12. B) 10 lapja:

Piros = Tok  Zdld Makk

Piros | Tak Lild Makk

k A107 A 10a987

A98 9 10ka97 k

I1./7.C) 10 lapja:
Piros Tek Zdld Makk
Aka9 A109 k8 f
I1. /8. C) 10 lapja:
CPiros  Tek | Zold | Makk
10fa 7 Aka9/10a
I1./9. C) 12 lapja:
Piros | Tk Zald | Makk
Ak8 f98 a9 A10k9
I1. /10. C) 10 lapja:
© Piros  Tok | Zold | Makk
Af97 ka 10f 107
I1./11. C) 10 lapja:
Piros | Tok | Zald Makk
AklAf 10k9 10a7
1. /12. C) 12 lapja:

Piros Tak ild | Makk
10fa7 kfa8 f8 Af




1./ 1. A) 12 lapja: 1. selejt. [11. /1. B) 10 lapja: I11. /1. C) 10 lapja:

Piros | Tk [ild  Makk Piros| Tok  Zdld | Makk Piros | Tok @ Zald | Makk
kfa fa8 Ak87 A8 A9/A109 fa f97 1087 k7109 10ka
I11. /2. A) 10 lapja: I11. /2. B) 12 lapja: I11. /2. C) 10 lapja:
Piros| Tok | Zeld  Makk Piros | Tok | Zeld Makk " Piros  Tek Zeld Makk
98 10k 10ka7 10k fa7 A987f98 a7 A10k fa A Af98
[11. /3. A) 10 lapja: I11. /3. B) 10 lapja: I11. /3. C) 12 lapja:
Piros Tak  Zald Makk Piros | Tak | Zald Makk Piros | Tak = Zild Makk
10kfa 10a87 a a 9 Ak Af8/10f97 A87 f9 10k97 AkS
1. /4. A) 12 lapja: I11. /4. B) 10 lapja: I11. /4. C) 10 lapja:
Piros' Tok | Zald | Makk Piros | Tok  Zald |Makk Piros | Tak  Zald  Makk
A 'a98 10fa7 Akag 10a8 10kf k9 f9 kfo97 A7 A8 107
I11. /5. A) 10 lapja: I11. /5. B) 12 lapja: [11. /5. C) 10 lapja:
Piros | Tek | Zald | Makk CPiros Tek | Zold | Makk Piros  Tek | Iold  Makk
kf9 A8 97 fa7 A107 fa Aa8 A1098 a8 10k97 10kf k
I11. /6. A) 10 lapja: I11. /6. B) 10 111./6. C) 12 lapja:
Piros | Tik [iild Makk Piros | Tdk Zild Piros Tik [ild  Makk
8 10k 10ka9 kf8 Aa97 a9 7 10kf Af87 Af8 a9
1. /7. A) 12 lapja: I11. /7. B) 10 lapja: I11. /7. C) 10 lapja:
Piros Tk lild Makk Piros Tok|  Zdld  Makk Piros Tak | Zald = Makk
a kfa987 A kf97 Ak8 kfa97 a8 10f97 A10 108 A 10
I11. /8. A) 10 lapja: I11. /8. B) 12 lapja: I11. /8. C) 10 lapja:
Piros Tok | Zold | Makk  Pires | Tok | Zold  Makk Piros| Tok | Iold | Makk
9 A98 Ak ka97 Al0ka8 kfa 1078 8 f7 107 a97 Al0f
I11. /9. A) 10 lapja: [11. /9. B) 10 lapja: I11. /9. C) 12 lapja:
Piros | Tak | Zald Makk Piros Tak | Zald Makk Piros | Tok Zald  Makk
Afa98 kf8 fa k A7 A1097 A107 107 10a9 k8 kfa98
[11./ 10. A) 12 lapja: [11./ 10. B) 10 lapja: [11. / 10. C) 10 lapja:
 Piros  Tek  Zold | Makk ' Piros  Tok Zald | Makk Piros Tok | Zold  Makk
'10ka9 8 Al0ka Ak9 Af87 kf/7 fa8 . |A10a97 f98 107
1./ 11. A) 10 lapja: 1./ 11. B) 12 lapja: 1./ 11. C) 10 lapja:
Piros | Tok | Zdld Makk Piros Tok = Zold  Makk Piros| Tak  Zdold  Makk
kf8 k7 108 A98 Aa97 a9 Af97 k7 10 A10f8 ka 10fa

1. /12. A) 10 lapja: I11./12. B) 10 lapja: I11./12. C) 12 lapja:

Piros | Tak lild - Makk Piros | Tok (Zold Makk Piros| Tok =~ Zsld = Makk
A10 109 10a98 Af kf87 Aag 10a7 a9 kf7 Akf7 k98




IV./1. A) 12 lapja:1. selejt.

Piros Tak  Zdld Makk
Afa9 A10k9 f8 Af

IV. /2. A) 10 lapja:
Piros | Tak | Zold Makk
A Af ka A10987
V. /3. A) 10 lapja:
Piros Tdk Zold| Makk
97/ Af7 8 fa97
IV. /4. A) 12 lapja:
Piros Tak | Zald | Makk
10f987 f Ak8 k98
IV./5. A) 10 lapja:
Piros | Tk [iild Makk
10 a98 A10f7 ka

IV./6. A) 10 lapja:

Piros | Tok | Zsld Makk
kf8 kf 9 Al0a9

IV./7.A) 12 lapja:
Piros Tak | Zsld = Makk
Af9 Al1of f9 f987

IV. /8. A) 10 lapja:

Piros | Tok | Zdld  Makk

kf7 f8 k87 97

IV./9. A) 10 lapja:
Piros | Tok = Zild Makk
f8 a Aag8 A10938

IV./10. A) 12 lapja:
Piros | Tak [ild Makk
k7 10k8 A10ka9 108

IV./11. A) 10 lapja:

Piros Tok | Zald = Makk
Al1okf k8 f7 [A10

IV./12. A) 10 lapja:

Piros | Tok =~ Zald Makk
A7 kf 10a8 10ka

V. /1. B) 10 lapja:
Piros | Tok | Zdld = Makk
107 fa k7 ka87
IV./2.B) 12 lapja:
Piros Tk lild - Makk
a987 10ka8 A108 f
IV./3.B) 10 lapja:
Piros Tk [ild  Makk
A10f 10a8/10k9 10
IV./4.B) 10 lapja:
Piros Tk [ild | Makk
Aa Ak98 10 10f7
V. /5. B) 12 lapja:

Piros Tok | Zald | Makk
Akfa Akf ka9 87

V. /6. B) 10 lapja:

Piros  Tok | Zald  Makk
Al10a7 A Akf k8

IV./7.B) 10 lapja:
Piros | Tk | Zald  Makk
10a k9 Aa87 Ak
IV. /8. B) 12 lapja:
Piros Tik [iild Makk
Aa98 ka7 Al10fa 10
IV. /9. B) 10 lapja:
Piros Tak | Zald  Makk
A1097 10 kf97 k

I\VV. / 10. B) 10 lapja:

Piros Tok | Zold | Makk
A109 Afa 8 a97

IV./11. B) 12 lapja:
Piros  Tik [iild Makk
8 10fa A10a9 ka87

IV./12. B) 10 lapja:

Piros | Tak Lild | Makk
k8 A10 Af9 Af7

IV./1.C) 10 lapja:
Piros | Tik [ild Makk
k8 87 A10a9 109

IV./2.C) 10 lapja:

Piros | Tok | Zald | Makk
10kf 97 f97 ka

IV./3.C) 12 lapja:
Piros | Tik [iild Makk
ka8 k9 Afa7 AkS8

IV./4.C) 10 lapja:
Piros  Tik lild | Makk

k 10a7 fa97 Aa

IV./5.C) 10 lapja:
Piros = Tok | Zald Makk

987107 8 A10f9
IV./6.C) 12 lapja:
Piros Tk [iild Makk

9 10a987 10a87 f7

IV./7.C) 10 lapja:
Piros | Tok | Zsld | Makk
k87 a87 10k 10a
V. /8. C) 10 lapja:
Piros  Tik Lild Makk

10 A109 9 Akfas
IV./9.C) 12 lapja:
Piros Tik ild | Makk

ka Akf987 10 fa7

IV./10. C) 10 lapja:

Piros | Tok | Zold | Makk
fag8 97 f7 Akf

IV./11. C) 10 lapja:

Piros | Tek | Zald | Makk
a97 A97 k8 f9

IV./12. C) 12 lapja:

Piros Tk Zld | Makk
10fa9 a987 k7 98



V. /1. A) 12 lapja: 1. selejt. V. /1.B) 10 lapja: V. /1. C) 10 lapja:

Piros Tok | Zold | Makk Piros | Tik Liild Makk Piros Tk Liild | Makk
Akf9 108 kf8 ka7 7 f Al10a7 Af98 10a8 Aka97 9 10

V. /2. A) 10 lapja: V. /2.B) 12 lapja: V. /2.C) 10 lapja:
CPiros |Tek Zeld | Makk CPiros Tok Isld | Makk ' Piros | Tok Zeld Makk
ka9 10k fa987 Af8 A Afa98 A10k 107 10kfa987 7

V./3. A) 10 lapja: V. /3.B) 10 lapja: V./3.C) 12 lapja:
Piros Tiik lild | Makk Piros  Tak [iild Makk Piros Tak | Zald Makk
fa9 Aa8 kf9 a A 10kf A107 k98 10k87 97 a8 Al10f7

V./4.A) 12 lapja: V. /4.B) 10 lapja: V./4.C) 10 lapja:
Piros Tok Lold | Makk Piros | Tak fold | Makk Piros  Tak Zald Makk

a98 A10f9 k87 108 10 ka8 Al10fa kf Akf7 7 9 Aa97
V. /5. A) 10 lapja: V. /5. B) 12 lapja: V. /5. C) 10 lapja:
CPiros | Tok | Zold | Makk CPiros | Tek | Zold | Makk Piros| Tok | Zdld | Makk
A98 Af 87 kf8 10ka 98 10kfa a97 f7 10ka7 A9 A10
V./6. A) 10 lapja: V. /6. B) 10 lapja: V./6.C) 12 lapja:
Firos | Tik Liild Makk Piros Tk Lild | Makk Piros Tok  Zdold | Makk
87 A8 Al0fa a7 f9 10kf k87 A 10 Al0ka a97 9 kf98
V./7.A)12 lapja: V./7.B) 10 lapja: V./7.C) 10 lapja:
Firos | Tok | Zald Makk Piros Tk Liild | Makk Piros Tok  Zsld  Makk
97 ka9 A9 10kfa7 f |10f87 kfa A9 Al10ka8 A 1087 8
V. /8. A) 10 lapja: V./8.B) 12 lapja: V. /8. C) 10 lapja:
Piros Tek | Zald | Makk Piros  Tek | Iold | Makk  Piros | Tk | Zold  Makk
kf k7 10a7 987 'Aa 10fa8 k9 A10kf 110987 A9 Af8 a
V./9. A) 10 lapja: V. /9. B) 10 lapja: V./9.C) 12 lapja:
Piros | Tok | Zold | Makk Piros | Tok | Zald | Makk Piros = Tok | Zald | Makk
107 10f kfa a87 kf9 a87 97 k9 Aag8 Ak9 A108 A10f
V./10. A) 12 lapja: V. /10. B) 10 lapja: V./10. C) 10 lapja:
Piros Tk | Zold | Makk Piros | Tek  Zold | Makk  Pires Tok | Zold  Makk
f Akf8 A987 k98 A 1097 fa Afa7 '10ka987 a 10k 10

V./11. A) 10 lapja: V./11. B) 12 lapja: V./11. C) 10 lapja:

Piros | Tik [ild | Makk Piros Tk lild  Makk Piros  Tok Zald ~ Makk

a7 a98 Aka 109 A10 A10k7 10f98 k7 kfo98 f 7 Afa8

V./12. A) 10 lapja: V. /12. B) 10 lapja: V. /12.C) 12 lapja:
Piros | Tk = Zald Makk Piros Tk Zald | Makk Piros Tk lild  [Makk

f 8 A98 AI10kf9 Aa7 Aka9 7 a8 10k98 10f7 10kfa 7




